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4 | 44682 101 [=VLOOKUP(C4,$1$4:$K$9,2,FALSE) =VLOOKUP(C4,$1$4:$K$9,3,FALSE) 7
5| [44689 104 [=VLOOKUP(C5,$1$4:$K$9,2,FALSE) =VLOOKUP(C5,$1$4:$K$9,3,FALSE) 2
6 | [44691 103 [=VLOOKUP(C6,$1$4:$K$9,2,FALSE) =VLOOKUP(C6,$1$4:$K$9,3,FALSE) 9
7| [44701 102 [=VLOOKUP(C7,$1$4:$K$9,2,FALSE) =VLOOKUP(C7,$1$4:$K$9,3,FALSE) 1
8| [44702 104 [=VLOOKUP(C8,$1$4:$K$9,2,FALSE) =VLOOKUP(C8,$1$4:$K$9,3,FALSE) 9
9| [44704 105 [=VLOOKUP(C9,$1$4:$K$9,2,FALSE) =VLOOKUP(C9,$I$4:$K$9,3,FALSE) 3
10 44706 101 [=VLOOKUP(C10,$1$4:$K$9,2,FALSE) =VLOOKUP(C10,$!$4:$K$9,3,FALSE) 1
11 44711 105 [=VLOOKUP(C11,$1$4:$K$9,2,FALSE) =VLOOKUP(C11,$!$4:$K$9,3,FALSE) 5
12 =t|=SUM(F4:F11)
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4 |=IF(F4>=3,ROUNDDOWN(E4*F4,-1) F4*E4) 100 =5 481
5 |=IF(F5>=3,ROUNDDOWN (E5*F5,-1),F5*E5) 101 HL— 462
6 |=IF(F6>=3,ROUNDDOWN(E6*F6,-1),F6*EB) 102 BEX Z|E (452
7 |=IF(F7>=3,ROUNDDOWN(E7*F7,-1),F7*E7) 103 2/ 528
8 [=IF(F8>=3,ROUNDDOWN(E8*F8,-1),F8*E8) 104 OE= 424
9 [=IF(F9>=3,ROUNDDOWN(E9*F9,-1),F9*E9) 105 At 553
10 [=IF(F10>=3,ROUNDDOWN(E10*F10,-1),F10*E10)
11 [=IF(F11>=3,ROUNDDOWN(E11*F11,-1),F11*E11)
12 |=SUM(G4:G11)
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